STXR
N FOVZ=2FXTLvA

B om R
HFHa—F K32528
A X THM15000
B AR THM15000-01

- BRTETOES, HFREHRERE ERT S,
- BRBRO—BICE, E9 - ZyNEEOHOHENEDET .

A FI-=iEtkn\ =1l






&

&R

ERGRD TEXITDONT

OHm 4
@ BRI (B0
@ EREaTR
@ RS
©@E %

~ X BREHESISERRFRESE LU, FMEICREFD
FX—ALT7L—MIFRUTNET,

2. xR [— | [ & MFozezxlTs
DET,

(=] -+ same, HmAEnTWSEEN
- BRARIT R0 R 55

o Tk BICEEN IR THER
TG L7RNER

N

FRSERRDAHSFIRICDNT

ZORGOMERERROBEAER G 1% &4&
FBE0%IETT AL HAERNTH > Th.
R BIC DWW TR &2 TS BT
BEHHNET,

HERROAIRRIENTIE LEE DR FER TR T
LEID, BEAERRSEE THoTh, BRRitRo T
BEENH - - B ST B SOOI DWW T TAER X
BHTOWEEEET,



THM15000

Fo—/-R4AUK

NEAR=aF7RATLvS

28\@/ ZQE

3
065-0040-1001
AUES A& E & - D - B ) B 1 =z

1 Fa—/_CP 1
2 | 0906571004 EyF ;60 1
3 | 090658200M ZFL—h 1
4 | 000714000M ¥y A)Fvbh; M36X1. 5 1
5 | PC063056 JY¥ 6. 3X56 1
6 | ONBSI 7YV —A=wv7V B PT1/8 1
7 | BZ14040 AVh 8.8 M14X40 4
8 | WSAl4 NRPHX 347 Ml4 4
9 | NZ14 Fvh 8 2va2 M14 4
10 | BZ12040 ALVR 8.8 M12X40 2
11 | WSA12 NRYPHR 34y M1 2 2
12 | Nz12 Fvh 8 2va2 M12 2
13 | BZ16035 ALk 8. 8 M16X35 8
14 | BZ16040 AVE 8.8 M16X40 4
15 | WSA16 NEPFHx 347 M16 12
16 | NZ16 Fovh 8 2¥=2 M16 12
17 | 1368850004 774 hCP 1
18 | BZ12025 ALE 8.8 M12X25 2
19 | Bz12040 FLR 8.8 M12X40 2
20 | 065482200M Ty ;12 2
21 | WsA12 NRPHR 39y M12 4
22 | NZ12 Fvh 8 2va2 M12 4
23 | 1368860004 ARLATZL—ALCP ;15000 1
24 | BZ16045 AR 8.8 M16X45 4
25 | WSA16 ARPHFX 34y M16 4

_1.__.

\v/



THM15000
RFo—/N-RAUK

NMEOT=aFRATLYS

3
065-0040-1001
RUES| B AR E 5 I T - ) 1B i

26 | NZ16 Fvh 8 2¥= M16 4
27 | BZ14030 ALVE 8. 8 M14X30 6
28 | WSAl4 NExYPHRX 33y Ml4 6
29 | BXI12065 AV 10. 9 ¥ M12X65 2
30 | NZ12 Fvh 8 2¥a2 M12 2
31 | WSA12 NEPHR 34y M12 2
32 | 1130750004 2% RCP 1
33 | 1130780004 754y hCP 1
34 | BZ12030 ALk 8. 8 M12X30 4
35 | WSAL2 NEYFHR 33 M1 2 4
36 | NZz12 Fvh 8 2¥2 M12 4
37 | 044615100M Ay R A=y 1
38 | 000739000M JoFEY ;9 1
39 | 1061640000 SV A4 a1 1




THM15000
DA i Y

NRAT=a 7RIS

@J‘f'
>
ETAR
13838 .
065-0040-1002
REER| M & & S T - B i

1 | 1367120004 % PUCP 1
2 | 1367130004 NTUH¥PICP ;14801 1
3 | 1367140004 NTVX%P7CP; 1480R 1
4 | oNASL F)—R=w7/V A PT1/8 2
5 | 1367150004 ¥ CP 2
6 | 1149510000 A B 4
7 | 123701100M H5—;85. 4X50 2
8 | BZ16130 AR 8.8 M16X130 2
9 | NN16 FAmrFy b M16 2
10 | BZ16050 ALE 8. 8 M16X50 4
11 | BZ16055 ALK 8. 8 M16X55 Y
12 | NZ16 Fvh 8 2¥= M16 8
13 | WsA16 ANEPHF 397 M16 8
14 | 1367160006 YU FCSO25X85X290 4
15 | 136717000M TEZYHEY 4
16 | WRA20 EFHHR M20 8
17 | PC040040 T 4X40 4
18 | 136718000M TEZYEEY 4
19 | PC032032 JUry 3. 2X32 4
20 | 102551000M Ty y PF3,/8XPT1/4 5
21 | 1033-04 F—ZxT)LHR PF1/4XPT1/4 4
22 | KHO401600AP | =7k —2R 1,/4X1600 1—4 4
23 | 2091-04 74— PT1/4 3
24 | 2083-04 =y PT1,/4 2
25 | 9015-04 F—RAHT~F=y T PF1/4XPT1/4| 1

_3_



THM15000
AR L

NRARZaT7RATLYE

RHES B EE & B M & FF R 1 =
26 | 1132800000 aFUR—A;1,/4X10000 1
27 | 134797000M H75 : VF38GAS F 1
28 | ING21212 R—AZS57 LNG2—-12/12 2
29 | IN212 R—RA257 LN2—12 7
30 | BZ06035 F)Lh 8. 8 M6X35 5
31 | BR06035 Hox<w/B 4. 6 Al M6X35 4
32 | NNFO6 7504 aryrFy b M6 9
33 | 1370710000 ZAL¥AS;620,/55R26. 5 L 2 | ®35~37 KT
34 | 1370720000 ZA¥AS;620/55R26. 5 R 2 | ®35~37 FAST
35 | 1339560000 #A4¥;620/55R26. 5 4
36 | 1370470000 HRA—N; 20X26. 5 4
37 | 1370750000 I 4
40 | 1367270190 HbL ¥ 7 b 4
41 | 1367270270 vang—=yoo 4
42 | 1367270080 NTxY S 4
43 | 1367270090 NTHRUR ; M22X1. 5 40
44 | 1367270070 . | A7V v BV 4
45 | J32214 TOR—NTXFY T 32214 4
46 | J32217 ALF=NTXFY 7 32217 4
47 | 1367270100 AA—NFv b ;M22X1. 5 40
48 | 1367270120 TL—F L a— 4
49 | 1367270280 TY—R= T 4
50 | 1367270200 TL—F Ls3— 4
51 | 1367270020 INT 4
52 | 1367270240 TL—% KT A 4
53 | 1367270050 VFq= 707 4
54 | 1367270290 Fx v — 4
55 | 1367270060 79 Fy b 4
56 | 1367270260 AFy RO yix 40
57 | 1367270300 R7YTT oy 4
58 | 1367270310 NTXX 9 TARIY 20 24




THM15000
IL—Ls

NEROT=ZaFPRTILYA

28
a
0685-0040-1003 28 /D
29 15 15/@
AW
RiEs B aEF & i - [ {i

1 | 1367580000 VIR RF 1

2 | 1367590000 Y8 LF 1

3 | 1367600000 V7 ; RRe 1

4 | 1367610000 Y73 LRe 1

5 | 1367620004 Z71L—ALCP ;R 1

6 | 1367630004 7L—ALCP; L 1

7 | 071561300M VU797 CP 4

8 | 1150760004 X CP 1

9 | BZ12035 ALk 8. 8 M12X35 4
10 | WSA12 NEPFHEX 34w M1 2 4
11 | NZ12 Fvh 8 2¥=2 M12 4
12 | 1367640004 RHCP 11
13 | BZ12030 FLh 8. 8 M12X30 31
14 | BZ12035 FLE 8 8 M12X35 3
15 | WSA12 NEYPHR 39y M1 2 34
16 | NZ12 FTyh 8 2%z M12 34
17 | 1198760004 FHCP;Re 1

18 | 136768000M HA KL—ACP;15000 1

19 | 136769000M F LRI 6
20 | BZ12020 ALk 8.8 M12X20 13
21 | WSAI2 NERFHx 34y M12 13
22 | 1367700003 YA FHHR—KCP; F
23 | 1373200003 PA RYPR—LCP; LF
24 | RBT12025 RZB 10. 9 M12X25 20
25 | BZ12035 Ak 8.8 M12%X35 3

,._5_




THI/M%?ZO *10020-12020 NAFARZAFTRILYE
7 s

N Pz s 7P
- TR P

" )
, 47 0 " B &4
26 1
. zs/ﬁ /‘/g/
29 @ 1516
A B
REES| H & EF - I - &k & =1
26 | BZ12030 ALE 8. 8 M12X30
27 | Bz12025 AL 8. 8 M12X25 4
28 | WSA12 NEYPHE 34y M12 32
29 | Nz12 Fvh 8 2¥=2 M12 32
30 | 1367710003 | %A F#HE—KCP ;Re 2
31 | RBT12025 REVB 10. 9 M12X25 20
™ 32 | Bz12035 ALF 8. 8 M12X35 4
33 | BZ12030 ALK 8. 8 M12X30 4
34 | BZ12025 ALk 8. 8 M12X25 ‘ 4
35 | WSAL2 PREYPHFR 34y M12 32
36 | NZ12 Fvyk 8 22 M12 | 32
37 | 1198610000 |=hA# ;5000 10
38 | TMB06035 PS5ZyELRY B—1 6X35 130
39 | 1375420000 G NTF 2T 1
40 | 1387390000 S~ 15000R 1
41 | 1387400000 S~L; A RSGAFRE 1
42 | 1387410000 S~ ARTA47RCe 1
43 | 1387420000 S~YL; A RFAL7Re 2
44 | 1387430000 S5~1;15000L 1
45 | 1387440000 S~L; ANFATLF 1
46 | 1387450000 S~ ARFALT7LCe 1
47 | 138737000 | A7 »7CP 1
48 | BZ12040 AL 8. 8 M12X40 1




THM15000
Roa7AY)

NMEAT=Za 7RIS

065-0040-1004
RHES| B & F & - - B fi8
1 | 1368370000 Y7303 UR 1
2 | 1368380000 Y723y UL 1
3 | 136840000M FL—h: F 10
4 | 136841000M 71—k Re 2
5 | BZ12030 Ak 8. 8 M12X30 24
6 | WSA12 NP HR 347 M12 24
7 | NZI2 Fyh 8 2va2 M12 24
8 | 1368420000 T/ S— 2
9 | BSZ10020 afERLVE 7T M10X20 4
10 | WSA10 AR FHER 34U M10 4
11 | NRR1OK Fv hUF—F M10 4
12 | 1368390003 YA R R—FCP ;U 3
13 | 1373220003 YA FHR—KCP ; UL 1
14 | RBT12025 REB 10. 9 M12X25 16
15 | BZ12025 AVE 8.8 M12X25 16
16 | WSA12 NEYPHR 34 M12 32
17 | Nz12 Fvh 8 22 M12 32
18 | 1368430003 25—CP ;R 1
19 | 1368440003 2F—CP: L 1
20 | RBT12025 AEZ2B 10. 9 M12X25 4
21 | BZ12025 AVh 8.8 M12X25 2
22 | BZ12030 ALk 8. 8 M12X30 4
23 | WRA12 EIFHR M1 2 10
24 | WSAI2 NERPHR 33y M12 10
25 | NZ12 Fvh 8 2¥=2 M12 10

.._.7_..




THM15000 /\fFAER=aAFATLYS
RoarAy

13840

065-0040-1004

RHES HEaEF - N B i =
26 | 1152671004 /N8 F ' 2
27 | 1152691004 N8 Re 2
28 | BZ12115 ALk 8 8 M12X115 10
29 | 063467000M Ty ;12 5X3. 2 10
30 | WSA12 NREFHR 34y M12 10
31 | Nzi2 +vh 8 2¥= M12 10
32 | 127533000M 75y hCP 2
33 | 063467000M = | Ywi ¥ ; 12. 5X3. 2 2
34 | WSA12 NREPHR 34y M12 ‘ 2
35 | NZ12 Fvh 8 2¥=2 M12 2




THM15000

2087 —L4

MR 7RI LYS

065-0040-1005

AHES| B & E 5 - I - {ERER &
1 | 1366890003 7oy h71L—ALCP; L 1
2 | 1366900003 70y R 7L —ACP ; R 1
3 | RBT12025 ARF¥B 10. 9 M12X25 8
4 | BZ12030 ALh 8.8 M12X30 6
5 | WSAl12 NEPHR 39y M1 2 14
6 | NZ12 Fvhk 8 2= M12 14
7 | 1366910003 Zuy hH—KCP ;15000 1
8 | BZ12025 Ak 8. 8 M12X25 4
9 | 042783600M Tyir ;12 2.
10 | WSA12 REYPHEx 347 M12 4

11 | NZ12 Fvhk 8 2¥a M12 4
12 | BSZ10020 afZFVE 7 M10X20 4
13 | NSZ10 aFFZFyh 8 2= M10 4
14 | Wsal0 NERYFHR 33y M10 4
15 | WRA1O EZFHR M10 4
16 | 1156610000 raryh; 44 1
17 | 1366920000 7y hhsS—; L 1
18 | 1366930000 Ty his— R 1
19 | BSZ10020 aFEZFELE 7 M10X20 4
20 | BSZ10025 aFERLVE 7T M10X25 4
21 | WsA10 REPFEHR 3d% M10 8
22 | NSZ10 afFFyhk 8 2¥= M10O 8
23 | 075290100M Ty ;10 4
24 | 1366940000 HR—: 15000 1
25 | BSZ10020 afFEELVE 7 M10X20 6

.._9.._




THM15000 /N\AFORZaFZATLYS
oavkoL—L
RHEES & FE S B & 4 W Bk 1
26 | NSZ10 afxFvhk 8 2¥a M10 6
27 | WSA10 RERPEHR 330 M10 6
28 | 1156610000 JuArvyh; 44 1
29 | 136695000M H3—:15000L 1
30 | 136696000M H3—; 15000R 1
31 | 136700000M F—AYR~KCP 1
32 | BSZ10020 aFERLE 7 M10X20 8
33 | BSZ10030 afEANLr 7 M10X30 2
34 | WSA10 NEPFHR 32y M10 10
35 | NSZ10 aFEFy b 8 2= M10 10
36 | 075290100M TJyi%;10 2
37 | 1366970000 H3%—315000F 1
38 | BSZ10016 aFERNR T M10X16 2
39 | WSA10 NEPFHR 3y M10 2
40 | 1367110000 H o LT VR R 1
41 | BSZ10020 aFEFRNLE 7 M10X20 2
42 | WSAL0 L3RR 39y M10 2
43 | 066580100M Jvi% ;10 2
44 | 136699000M 7507 4
45 | BZ06016 ALk 8. 8 MBX16 8
46 | NPO6 A7Y v 7Fy b M6 8
47 | WRAO6 vFH¥HR M6 8
48 | LN212 R"—2Z7527 LN2—12 2
49 | 0674921000 7507 6X1 2
50 | BZ06035 ALk 8. 8 M6X35 2
51 | NNFO6 TS5 Aurry h M6 2
52 | 1165910000 H3—CP 1
53 | 1165901000 H 78— 1
54 | BSPZ08020 aFHSWYFHRLE 7 M8X20 3
55 | WRAO8 IR M8 3
56 | 0796583000 =xJ:50 1
57 | 079659100M HT R 4
58 | 044097200 Toi¥; 8 1
59 | PS040016 AFY LT 4X16 1
60 | 136701000M L ;8X355 1
61 | PC032016 Uy 3. 2X16 2
62 | 0889780000 T30 500~540rpm 1
63 | 1182430000 S~L PTOZ S5 vF 1
64 | 1375410000 GV, B—=Fag Yy R 1
65 | 1341430000 STARV—77~L; 160 (YURALVX) 1




THM8020-10020-12020 /N\AFAR=aFRATLYY
JXIOU—LTIoE Ny F

" 3
AR
065-0040-1006
AHET| B &8 EE B & & FF {EREK i =

1 | 1367370003 J¥HR—~FCP ; R 1
2 | 1367380003 Y¥i—KCP; L 1
3 | 1367420000 DN 2
4 | BZ12030 ALk 8.8 M12X30 6
5 | BZ12025 Ak 8.8 M12X25 2
6 | RBT12025 AEZB 10. 9 M12X25 20
7 | BZ12035 ALh 8. 8 M12X35 8
8 | WsAl2 ARFHR 39y M12 36
9 | WRAI2 EZHFEHR M1 2 2
10 | NZ12 Fvh 8 2¥a M12 "31
11 | 1152741004 AF—CP

12 | 1272160000 N -
13 | BZ12035 ALk 8.8 M12X35 4
14 | WSA12 NEPHER 39y M12 4
15 | Nz12 Fvhk 8 22 M12 4
16 | 1367640004 FRZCP 1
17 | 1370500000 2N -
18 | BZ12035 ALVE 8. 8 M12X35 4
19 | NzZ12 Fvh 8 2%z M12 4
20 | WSA12 ARXYPHR 32y M12 4
21 | 0758150000 EUN 2
22 | 1369770000 Vv 2
23 | 1369740000 o2—Fk;11500%X5000 1
24 | 1125540000 THR—AEY 12V 1
25 | 136975000M Ty L 1




THM8020-10020-12020 /N\AFAOTZaATFRATLYS
D IL—LFouoes - noeix

“}/

[~ S
T BTAR
065-0040-1006
RHES| W e E 5 - I, {EEK 1&g =
26 | 136976000M 77y ;R 1
27 | BSZ08025 aBFERNLE 7T M8X25
28 | NSPO8 aFERATY Ty 4 M8 4
29 | 0674921000 757 6X1 15
30 | BZ06016 ALE 8. 8 M6X16 15
31 | NZ06 Fvhk 8 2¥= M6 15
32 | WS06 NEPHR 209 M6 ' 15
33 | 0009301000 Ny ¥F; R—150TR 2
34 | 0009330000 NoU¥F R—60CIS ‘ 2
2

35 | 0009341000 NV %F;Y-60C1




THM15000
PIC v Tk

065~0040-1007
RS W& & & - - 1 B 1
1 | 1368510002 PICY¥7hH 1
2 | 1194960000 AT 1
3 | JUCFL20TDGB | "7 Y vy 2=v h UCFL207DGB 2
4 | BZ14045 ALk 8. 8 M14X%x45 4
5 |NZ14 Fobh 8 2¥=2 Ml4 4
6 | WSAld AxYPHE 394y M14 4
7 | 087225100M Uwuiy ;14 2
8 | JWLAOS0ASY NRT—YafvF WLA—-50 1
9 | 0000963000 PICx¥v7/;35 1
10 | 1368520004 U —RIL RELE ;1 1
11 | 1368530004 U —PIV RERALE ;2 : 1
12 | KBB-35154 IRy RSAXFTY A 35X39X15 1
13 | 0440284000 Ty —HRNLE;M10X55 6
14 | NSZ10 afF#Fyh 8 2= M10 6
15 | WSA10 NERYPHEX 347 M10 6
16 | TRK08020 6 FAXY 10. 9 7RI M8X20 2
17 | NSZ08 afEFyh 8 2¥= M8 2
18 | 1368540002 ¥ 7 b 1
19 | KFC10080350 |~ =2y%— Uz 10X8X35 1
20 | JASFB207DGB | X7 YrJa=v; ASFB207DGB 3
21 | BSZ10035 afEyrvh 7 M10X35 6
22 | NSZ10 afFryhk 8 2¥= M10O 6
23 [ WSA10 SRR YFHR 39 M10 6
24 | 044098500M Tvi% ;10 6
25 | KFC10080350 | ~faou¥— JYaw<w/L 10X8X35 2




THM15000 /\fFOR=a7RTLv¥
PIC ¥k

065-0040-1007
REEE| B B F - I - N ) B 1 xz

26 | 0852491003 Vaf vk 1
27 | PS060050 RFY T 6X50 1
28 | 129108000M A 1
29 | 1368560000 T 1
30 | 071747000 BT — 2
31 | Nz12 Fvh 8 22 M12 2
32 | WSA12 PAxYPHR 3Ty M1 2 2
33 | 136765000 777y FCP 1
34 | 1105960010 PxELY;GLS—S1 1
35 | 0937330000 AV ATE 1
36 | CP03010 +F_axy M3X10 4
37 | NAO3 Fvh 4 232 M3 4
38 | WS03 NEPHR 297 M3 4
39 | TRK08020 6 FAXY 10. 9 ZARI M8X20 2
40 | NSZ08 afFFyk 8 2= MS8 2




THM15000

NMEOR=a7RFLvE

Ry R
065-0040-1008
AHES | M & B & G - I T B fi&
1 | 0803281003 YRy 7 A 1
2 | 0803290003 Xxv7 1
3 | 1182881002 ¥ 7 b 1
4 | 0796480002 RAYLFY ; M5, 5X20T 2
5 | KFC10080350 |~ ay%— Ja</ 10X8X35 2
6 | 0803300003 Xy 1
7 | 115068000 78— 1
8 | 0803310002 HT— YRy I A 1
9 | DCo35 CHZ XU Y7 35 1
10 | DHCO72 CHEZNAD TF 72 2
11 | DHCO80 CH#RAU 7+ 80 1
12 | J6207LLU R—=A_7YVS 6207LLU 3
13 | JBL307 _7Yr7 BL307 1
14 | 1367400004 Fl—k 1
15 | 1367410000 DN -
16 | BZ12030 ALVR 8. 8 M12X30 2
17 | BZ12040 A 8. 8 M12X40 4
18 [ NZ12 Fvh 8 2¥2 M12 2
19 | WSA12 NRYPHR 37 M1 2 6
20 | 042783600M Ty ;12 2
21 | BSZ10030 aFFENLE 7T M10X30 3
22 | WSA10 SNRXFHR 3T M10 3
23 | 044098500M Jvi% ;10 3
24 | 0602230000 DN -
25 | 0445830000 FarbAfh:10X0. 2 -




THM15000 /NFOR=a7RTLvS

FYHRyIR
33
32
31
L 27
fol 7
/
:4 30
A0
29
N
12
16 19\@ @
» @ .
13844 E5HR @“‘f\
065-0040-1008 N7 9
FHEE] B B W & & % % =
26 | 0007170000 Fo—akl
27 | JUCFC207DGB | XF Yy Jzr=v + UCFC207DGB
28 | BZ12050 Arh 8. 8 M12X50
29 | WSA12 REPHR 347 M1 2

30 | 1369130002 ¥ 7 b

~ 31 | 080456000M WA FR

32 | NC2L20150 Fr oAty 227 M20X1. 50

33 | PC040032 Y 4X32

34 | 136914000M rMT




THM15000
Tya—k

NMROT=ZaFTRATLYS

[ 13845 | ke
065-0040-1009

RUES B e T & WO 4 W B i
1 | 136797000M T2~ CP 1
2 | 1367980000 H 78— 1
3 | BSZ10020 aHFERVE 7T M10X20 6
4 | WSAL0 NEPHFR 34y M10 6
5 | NRR10K Fy hUTF—}F M10 6
6 | 138387000M 75 v RCP 1
7 | 136799000M 7547 hCP 2
8 | BSZ10025 SHEBRILE 7T M10OX25 2
9 | BSZ10020 aFEFLVE 7 M10X20 4
10 | WSAL0 NEFHE 347 M10 6
11 | WRALO EZHHR M10 6
12 | BSZ10025 afERALE 7 M10OX25 4
13 | WSA10 REYPHR 397 M10 4
14 | NSZ10 aFyrFyh 8 2¥=2 M10 4
15 | 1368000000 FAFL—hk; LO 2
16 | 136804000M 71—k ; LO 2
17 | BR10040 HIF<AB 4. 6 A1 M10X40 10
18 | 075290100 Toi% ;10 10
19 | WSAIO NRPHE 34y M10 10
20 | NSZ10 aFFFvyh 8 2¥= M1O 10
21 | 1368010000 FATL—h ;M 2
22 | 136805000 FL—h;M—1 2
23 | 136806000M Tl—h; M—2 2
24 | BR10040 H7x<=/B 4. 6 A1 M10X40 10
25 | WSA10 ARXHFHR 349 M10 10




THM8020-10020+12020
TyialF—hk -

NMEAT=a7RTLYS

AHES B EE & B & 4 W Bk {i
26 | NSZ10 aBFZFyh 8 2¥= M10 10
27 | 1368020000 57—k ; U—-1 2
28 | 136807000M FL—h;U—-1 2
29 | BR10040 hHIFR<w)VB 4. 6 A1l M10X40 6
30 | 075290100M Tyi% ;10 6
31 | WSAL0 NREPHR 39y M10 6
32 | NSZ10 afFFry bk 8 2= M10 6
33 | 1368030000 ILSL—b; U—-2 2
34 | 136808000M Z1—h;U—-2 2
35 | BSZ10035 afFEFNVE 7 M10X35 4
36 | 066580100M Tyi¥% ;10 4
37 | NSZ10 afFFyh 8 2¥a M10O 4
38 | WSA10 NRRPFHFX 33y M10 4
39 | 000451000M HIFXFRNLER 8. 8 M10X25 4
40 | NSZ10 afxFyh 8 2¥= M10 4
41 | WSAlO RNEYPHR 394y M10 4
42 | 1167080000 HA Fa—F— 2
43 | BZ14065 ALk 8. 8 M14X65 2
44 | NN14 FAurrFyh M14 2
45 | 1368090004 PR—h; L 1
46 | 1368100004 YHR—-F; R 1
47 | 115062000 Fy LRIV 1
48 | 1150720000 ARSGA K 4
49 | 115073000M 71—k 4
50 | BZ12055 ALk 8 8 M12X55 8
51 | WSA12 SNRYPHR 34y M12 8
52 | 115078000M Fx LRIV _ 2
53 | 136811000M HF—:19. 4%X25 8
54 | 1150720000 ARTA 5 4
55 | 115073000M FL—h 4
56 | BZ12085 Ak 8. 8 M12X85 8
57 | WSAL2 ARYPHR 34y M12 8
53 | 1380070004 HA KCP ;15000 2
59 | BZ20055 ALk 8. 8 M20X55 4
60 | NZ20 +wh 8 2= M20 4
61 | WSA20 NERPHR 34y M20 4
62 | 1150720000 RTGAH : 4
63 | 115073000M FL—k 4
64 | BZ12055 ALk 8. 8 M12X55 8
65 | WSAI2 NREPFHX 39y M12 8
66 | WRAI2 eI¥FEHFR M1 2 8
67 | 1368120000 F 78— 1
68 | BSZ10025 aFERLVE 7 M10X25 3
69 | NSZ10 afxFy bk 8 2¥=2 M10O 3
70 | WSA10 SERFHFX 3FY M10 3
71 | 136835000M Py :35X255 1
72 | 136836000M ¥y 35X195 1
73 | PC063056 Yy 6. 3X56 4
74 | 084833100M HZ5—;35. 7TX21 2
75 | NZ20 Foh 8 2¥=2 M20 2
76 | WSA20 ARYPHR 394y M20 2




THM13000 /N(FAT=27RTLv¥
Fyalf—ha7y

065-0040-1010

REES| A E R - -, %K fig =
1 | 1169210004 TO—F /N XNV TCP
2 | BZ06065 AR 8. 8 M6X65
3 | WRAO6 LI Tx M6
4 | NPO6 A7V Ty b M6
5 | 1369150004 757 b
6 | BSZ10025 aFERNLE 7T M10X25
7 | NSZ10 af%F vk 8 22 M10
8 | WSAL0 ARXHPHR 347 M10
9 | 1347190000 ay ka—iRy 7 ACP

10 | 1369160000 IN—TRA

11 1345440000 a—FK;3500

12 | 1369170000 aF7VYR—A 1/2X560 4—4

13 | 1369180000 aF7VHR—A 1,/2X2500 1—4

14 | 0007781000 I 7o%xyv7;1/2

15 | 1370830000 BT FA PT1/2

16 | 4043-12~08 UNF7wyiv? 1 1,/16—12XPT1,/2

17 | 1369190000 TANVE 3 1,/2-60pu

18 | 123700000M Aa—YZ—rWT 5 1,/2

= = O = [ RN N ==~ [N NN NN —

19 | 2083-08 =v7FNV PT1,/2

20 | 2086-08 VR PT1,/2

21 | 2091-08 74— PT1,/2

22 | 1013-08 r"—R=y7)N PF1,/2XPT1,/2
23 | 1013-08-06 r—A=y7N PF1,/2XPT3,/8
24 | 1035-08 R"—AxT)NR45 PF1/2XPT1,/2
25 | 1033-08 AR—AxT)R PF1/2XPT1,/2




THM15000
Tyia—ra7y

NMEOT=ZAT7RTLYS

RHES M aEH B s & W Bk (] %
26 | 2083-06 =y PT3/8 2
27 | 2083-08-06 =y PT1/2XPT3,/8 1
28 | 2087-06 ARTJUR PT3,/8 2
29 | 117267000M Ty PF1/2XPT1,/2 4
30 | 0749681000 A GNF2—T 3 500 4
31 | ILT150 Avvanyg¥A 3. 5X152 3
32 | 1368340000 SYUFCWP100X4860X1990 1 | ®33~57 fHNLf
33 | 1368340010 =y B 3
34 | 1368340020 VAINZ 1
35 | 1368340030 VYUE 2 1
36 | 1368340040 oy Z7b—h; 1 4
37 | 1368340050 a7 Fl—h; 2 2
38 | 1368340060 AGA H— 2
39 | BZ12030 AR 8. 8 M12X30 16
40 | WSA12 REYPHF 327 M1 2 18
41 | BJ12025 #5F%F%yv7B 10. 9 M12X25 8
42 | BZ12120 AVhk 8.8 M12X120 2
43 | NZ12 Fyh 8 2¥= M12 2
44 | WRAL2 . v IR M12 4
45 | 13683400D0 YYUHE 3 1
46 | 13683400E0 vy 1
47 | 13683400F0 71 1
48 | 13683400G0 aF7VAR—Z 3,/8X1610 1
49 | 13683400H0 LT3 1
50 | 1368340010 aFYR—A 3,/8%X440 1
51 | 13683400J0 7507 2
52 | BSZ08025 aFERLE 7T M8X25 2
53 | NSZ08 afi2rFyh 8 2¥= M8 2
54 | WSAO8 RxPHE 34y M8 _ 2
55 | 13683400N0O F—AR=y 7V PF3/8XPT3/8 1
56 | 13683400P0 7507 3
57 | 13683400Q0 HA—ARTAR PF3,/8XPT3/8 1




THM15000

NMERT=a 7RIS

E—42
%

P
065-0040-1011 29 30
AHES| A E & 1 I I ) %R i

1 | 1369240003 BP—& 7L —ACP: L 1

2 | 1369250003 E—&71L—ACP ; R 1

3 | 1369220003 TR T71L—A5LCP ; L 1

4 | 1369230003 T o7 L—ACP ;R 1

5 | BZ12035 ALk 8. 8 M12X35 12

6 | NZ12 Fvhk 8 2¥a M12 12

7 | WSAL2 ARHFHR 3T M1 2 12

8 | 065482200M Tyiy ;12 6

9 | 040608401M Uwi%;13X4. 5 6

10 | 137278000M 72y hCP )

11 | 1372810000 Aa—7; L 1

12 | 1372820000 Zu—7: R 1

13 | BSZ10020 afFERNLE 7 M10X20 6

14 | RBT10020 RZ2B 10. 9 M10X20 6

15 | NSZ10 afFZFvyh 8 2= M10 6

16 | WSA10 NRZPHFX 337 M10 12

17 | WRAIL0 EZYPHR M10 6

18 | 136926000M 7—ALCP; L

19 | 136927000M 7—ALCP ;R

20 | ONA6 FYVY—R=wFL A M6

21 | BZ12115 ALk 8. 8 M12X115 10

22 | NZ12 Fvbh 8 2%z M12 10

23 | WSA12 NEFYPHR 347 M12 10

24 | 1282620000 DN -

25 | 127481000M > CP 2




TII;‘!MLSOOO INFRTZaF7RILYE

&

?
065-0040-1011 23 5 3 30
AHERl A E S e - R - I ) B fiE =z

26 | 000739000M JoFEy; 9 2

27 | JUCFC208 7Yy ra=yh UCFC208 2

28 | JUCFC208D1 7Y Ja=yh UCFC208D1

29 | BZ12050 ANk 8. 8 M12X50 16

30 | WSA12 NRYFHR 39T M12 16

31 | Nz12 Fvk 8 2%z M12 8

32 | 1336940000 SFY¥5;4X1,/4—28UNF 2

33 | EWK869932 SEY¥7,4X1,/8 : 2

34 | 0714871000 Foyak—ACP ;340 2

35 | ONCS1 ZFV)—2=v7F)V C PT1,/8 2

36 | 1369280004 AL E—ZCP 1

37 | 1369290004 TR —&CP 1

38 | 1151901004 T1—FK 32

39 | 1369700004 FL—F 4

40 | BZ12030 ALk 8 8 M12X30 96

41 | BZ12035 ALk 8. 8 M12X35 8

42 | NUZ12 UFybh 8 M12 104

43 | WSAl12 NEFYPHER 39y M12 104

44 | 1062420000 T rA4ag 20 1




THM15000
E—%9k7

NMEAR=2 7RIS

065-0040-1012
RHES| M aEF H oM & W B 1

1 | 1369900003 RA 1
2 | BZ12035 ALk 8. 8 M12X35 4
3 | WsA12 ARYPHFX 34y M1 2 4
4 | 1371870003 A7y hCP; 80X22T 1
5 | 1369910003 A7y bk ; 80X32T 1
6 | LAES80078 n—5Fx— S80X78L x=UKLZR 1
7 | 1369300003 A7y h; 80X15T 1
8 | 1369310003 A7alwh; 80X27T 1
9 | LAS0088 n—5F-— 80X88L L
10 | 080456000M WS 4
11 | NC2L20150 FrvRALFyh 2¥2b7 M20X1. 5 4
12 | PCO40032 JUEY 4X32 i 4
13 | 1369320000 Friay 2
14 | 136933000M FL—h 2
15 | 136934000M Fx LRIV 2
16 | BZ12100 AVE 8.8 M12X100 2
17 | WSAL2 NREYPHHx 307 M12 2
18 | 040608401M Uvi¥%;13X4. 5 2
19 | 1369920003 H3—CP : LO 1
20 | 1308780000 Ty Kb 2
21 | 136993000M 754y hCP 2
22 | BSPZ08020 aHZSWYEFRLVE 7 M8X20 6
23 | 044097200M Tyi¥ ;8 6
24 | 136994000M 754> RCP 1
25 | 1369950003 HX—CP ;U 1




THM15000

NRAT=aF7RTLYS

E—49K%

AHES| B A& E B B & 4 %) 55 &
26 | 1308780000 =Y AV A% 2
27 | 136993000M 75w hCP 2
28 | BSPZ08020 afFESWYHHLE 7 M8X20 6
29 | 044097200M Uwix; 8 6
30 | 136996000M 757w hCP; A 1
31 | BZ12030 FVE 8. 8 M12X30 2
32 | WSA12 NREYPHR 34y M12 2
33 | Nz12 Fvh 8 2¥a2 M12 2
34 | 136997000M 757y FCP; B 1
35 | 000451000M HIZXRNLE 8. 8 M10X25 2
36 | WSA10 REPFHR 337y M10 2
37 | NSZ10 afF#Fyh 8 2v=2 M10 2
38 | 1369980003 H73%—; RE 1
39 | BSZ10020 aBFERNLE 7T ML10OX20 7
40 | BSZ10030 aFEFLrs 7 M10X30 1
41 | WRA10 EIYHR M10 8
42 | WSA10 RxYPHFx 347 M10 8
43 | NSZ10 afFZFyhk 8 2¥=2 M10 8
44 | 1369870003, =27 /% CP 1
45 | BZ16040 ALk 8. 8 M16X40 2
46 | NN16 FAuaF vk M16 2
47 | 133215000M 797 ;R 1
48 | 133216000M Z7v7 ;L 1
49 | 081735000M ALY T 2
50 | NN16 FAuarFyhr M16 2
51 | 1061710000 S Ay 8 2
52 | 1062460000 GGV A3y 24 1
53 | 1371850000 S~V BE—Z Y7 R 1




THM15000
VANY ks i

INMEARZa 7RIS

065-0040-1013

RtES| B E 5

- - K &
1 | 137018000M 7—hKhCP 1
2 | 137019000 7—ALCP ; R 1
3 | 137020000M 7—ALCP; L 1
4 | BZ14110 ALk 8. 8 M14X110 4
5 | WSAl4 NRYPHAR 34y M14 4
6 | Nz14 JFvh 8 22 M14 4
7 | ONA6 JY—R=y 7V A M6 2
8 | 127002000M > CP 2
9 | BZ12025 ALk 8.8 M12X25 2
10 | WSA12 NREPFHEX 33 M12 12
11 | 137021000M By 25X112 4
12 | PC050045 JYELy 5X45 8
13 | 1370220000 FL—k 2
14 | 1370230000 FI8— 2
15 | 137024000M FL— b 2
16 | BSZ08025 aFZRk 7 M8X25 12
17 | NSP08 aFERATY Ty 4 M8 12
18 | 080414100M Tviy; 8 2
19 | 1326860000 FTAFL—F 1
20 | 137025000M FL—hk 1
21 | BSZ08030 aFEHRNb 7 M8X30 8
22 | NSPOS aHFFRATYV Ty 4 M8 8
23 | 0858500000 TO¥RE  (NVF) 2
24 | NZ16 Fvh 8 2¥=2 M16 2
25 | 1371370000 ALl —4 1




THM15000 /\qFaR=a7RATLYS
INT—H—]

065-0040-1013

AHES| H A E B I N - R 18
26 | BSZ10025 aFEFNLE 7 M10X25 2
27 | WSA10 SRRYFHR 32 M10 2
28 | NSZ10 afZryhk 8 2¥2 M10 2
29 | 1370440000 YU Z CWP50X800X1000 2
30 | 1033-04 A—ARx)R PF1/4XPT1/4 4
31 | 1367390000 aT7VHR—A:1,/4X3700 1—4 2
32 | 1370450000 aF7VE—A;1/4X6700 4—4 4
33 | 2091-04 T4~ PT1,/4 2
34 | 9015-04 R—=RAR I ~F=y 7NV PF1/4XPT1,/4 2
35 | 1013-04 A—R=v 7V PF1/4XPT1,/4 4
36 | 2081-08~04 Ty PT1/2XPT1./4 1
37 | 112531000M Za—YZ—1o9v7 s 1,/4 1
38 | 2083-08-04 =NV PT1,/2X1/4 1
39 | 1370830000 HF5 AR PT1,/2 2
40 | 0007781000 NTT7%xv7;1/2 2
41 | 0749681000 AL GNF2—T ;500 6
42 | ING31414 F—AR75v7 LNG3—14,/14 15
43 | BZ06040 AVE 8. 8 M6X40 5
44 | BZ06035 Ak 8. 8 M6X35 10
45 | NNFO6 754ty b M6 15
46 | 1062450000 SV L ay 23 2
47 | 1259340000 NS R—50100SQS 1




WLA—50
IND)—TaAUk

FZU42RIPTOM

RHES| B HmE R - T - {EER fi
ASY | JWLAO50ASY Np—Tafbh WLA—50 1
1 | JWLAOS0-1ASY | RU—VaAf Lk A7 WLA—50 1
2 | JLAOS0-2ASY | XU —VaAf vk FTU¥ LA—50 1
3 | JPY6226-10 v wdg—rs WLA 1
4 | JLA-ASY AL LA 73 AS270 3
5 | JCY6312-4 C. va—7 LA 1
6 | JFY6228-10 TA v T 7a—r A WLA 1
7 | JWLA050-1 L7 A WLA—50 1
8 | JPC14ASY 7507y U3 14 2
9 | JWLA050~3 TP hi— L WLA—50 )1
10 | PS10065 2FYL T 10X65 » 1
11 | JPY6226-11 vuvy¥a—s LA 1
12 | JYPLAO45 rAS%a—y LA—45 1
13 | ]MD045-4 T A~ TyZ MD—45 1







E(&I

S—050401A

Z: #t
TREXRM

Te = PR

BE R R
%5 2R
AR R
18 2 2 5
% ] 6 3 R
fil &2 % 2 PR
I\l 2 8 PR
SR
LU 5 % R
R

5 4 2 3 P

066-8555

066-8555

070-8004

098-4100

080-2462

086-1152

025-0312

020-0173

983-0013

323-0158

480-0102

700-0973

862-0939

885-0004

FEH LER#:L1IO 6 1 F # 2
TELO123-26-1 12:3
FAX0123-26-24

FEH EE#H 106 1 F # 2
TELO123-22-5131
FAX0123-26-2035

BN TETRHEL4LL9THIEHFEISLS F
TELO166-61 6131
FAX0O166-62-8985
RIEHEEMNFEYOXY1191F#
TELO162-82-1932
FAXO162-82-1696
FIEWmE 22 45%4d41TE12 &itb
TELO155-37-3080
FAXO0155-37-5187

TR EFEHIAET 2 TE16%F 2
TELO1537-2-2624
FAX01537-3-2540

EFREET _MBEE=0%1333-1
TELO198-26-5741
FAX0188-26-5746
EFEEFHEBRHERTRIERS52-3
TELO19-694-1661
FAX019-694-1662
EREMETEEFXPEFMEF179-1
TELO22-388-8673
FAX022-388-8735
wAEBSMULHTTER 251 2 -1
TELO285-49-1500
FAX(0285-48-1560

ro

F MR TR RA AT EHER19]
TELO587-93-6888
FAX0587-93-5416

L% B LT P BT 04103

TELO86-243-1147
FAX086-243-1269

EABEATESTITH2EL S
TELO96-381-7222
FAX096-384-3525
ERERE T HLETIS 37 -1

TELOS86-38-1045
FAX0986-38-4644

Y. 17.

04. 4S5 @&



